9.11 |PVCElbow 1/2" pcs 3
9.12 |PVC Coupling 1/2" pcs 3
9.13 |PVC Connector w/Locknut 1/2" pcs 2
9.14 |PVC Sealant can 0.5
9.15 |Plastic Moulding 1" pcs 2
9.16 |No Nail Adhesive pcs 0.2
9.17 |G.|. Wire #16 kgs 1
9.18 |Metal Clamp 1/2" 2 hole pcs 10
9,19 |Tox & Screw #6 pcs 10
9.20 |Electrical Tape pcs 0.3
9.21 |Masking Tape pcs 0.3
9.22 |Plastic Tie Wrap 10" pck 0.25
10 |CAF 3 STOREY BLDG-3F
10.1 |Data Cabinet 12RU set/s 1
10.2 |Expansion Bolt and shield set/s 4
10.3 |Amco Box set/s 1
10.4 |information Outlet CAT6 set/s 3
10.5 |Face Plate Duplex set/s 1
10.6 |UTP Cable CAT6 rolls | 0.0983607
10.7 |RJ45 Connector pcs 4
10.8 |RJ45 Rubber Boot pcs 4
10.9 |Plastic Junction Box 4"'x4" pcs 1
10.10 |PVC Pipe 1/2" pcs 10
10.11 |PVCElbow 1/2" pcs 3
10.12 |PVC Coupling 1/2" pcs 3
10.13 |PVC Connector w/Locknut 1/2" pcs 2
10.14 |PVC Sealant can 0.5
10.15 |Plastic Moulding 1" pcs 2
10.16 |No Nail Adhesive pcs 0.2
10.17 |G. |. Wire #16 kgs 1
10.18 |Metal Clamp 1/2" 2 hole pcs 10
10.19 |Tox & Screw #6 pcs 10
10.20 |Electrical Tape pcs 0.3
10.21 |Masking Tape pcs 0.3
10.22 |Plastic Tie Wrap 10" pck 0.25
10.23 |CASA-GF
10.24 |Data Cabinet 12RU set/s i
10.25 |Expansion Bolt and shield set/s 4
10.26 |Amco Box set/s 7
10.27 |Information Outlet CAT6 set/s i
10.28 |Face Plate Duplex set/s /
10.29 |UTP Cable CAT6 rolls | 0.3219344
10.30 |RJ45 Connector pcs 14
10.31 |RJ45 Rubber Boot pcs 14
10.32 |PVCPipe 1 1/2" pcs 14
10.33 |PVCElbow 1 1/2" pcs 3
10.34 |PVC Coupling 1 1/2" pcs 5
10.35 |PVC Connector w/Locknut 1 1/2" pcs 4
10.36 |Pull Box 8"x8"x4" pcs 1
10.37 |Plastic Junction Box 4"'x4" pcs 4
10.38 |PVC Pipe 1/2" pcs 23
10.39 |PVC Elbow 1/2" pcs 6
10.40 |PVC Coupling 1/2" pcs 6
10.41 |PVC Connector w/Locknut 1/2" pcs 6
10.42 |PVC Sealant can T
10.43 |Plastic Moulding 1" pcs 14




10.44 |No Nail Adhesive pcs 1
10.45 |G.|. Wire #16 kgs 2
10.46 |Metal Clamp 11/2" 2 hole pcs 10
10.47 [Metal Clamp 1/2" 2 hole pcs 10
10.48 |Tox & Screw #6 pcs 20
10.49 |Electrical Tape pcs 1
10.50 |Masking Tape pcs 1
11 |CASA-2F
11.1 |Data Cabinet 12RU set/s 1
11.2 |Expansion Bolt and shield set/s 4
12 |CASA-3F
12.1 |Data Cabinet 12RU set/s 1
12.2 |Expansion Bolt and shield set/s 4
13 |CASB-GF
13.1 |Data Cabinet 12RU set/s <1
13.2 |Expansion Bolt and shield set/s 4
14 |CASB-2F
14.1 |Data Cabinet 12RU set/s 1
14.2 |Expansion Bolt and shield set/s 4
15 |CASB-3F
15.1 |Data Cabinet 12RU set/s 1
15.2 |Expansion Bolt and shield set/s 4
16 |CBABLDG - GF
16.1 |Data Cabinet 12RU set/s i
16.2 |Expansion Bolt and shield set/s 4
16.3 |Amco Box set/s 5
16.4 |Information Outlet CAT6 set/s 5
16.5 [Face Plate Duplex set/s 5
16.6 |UTP Cable CAT6 rolls |0.2229508
16.7 |RJ45 Connector pcs 10
16.8 |RJ45 Rubber Boot pcs 10
16.9 |PVCPipe 11/2" pcs 10
16.10 |PVCElbow 1 1/2" pcs 3
16.11 |PVC Coupling 1 1/2" pcs 5
16.12 |PVC Connector w/Locknut 1 1/2" pcs 4
16.13 |Pull Box 8'"x8"x4" pcs 1
16.14 |Plastic Junction Box 4"x4" pcs 4
16.15 |PVC Pipe 1/2" pcs 12
16.16 |PVC Elbow 1/2" pcs 3
16.17 |PVC Coupling 1/2" pcs 3
16.18 |PVC Connector w/Locknut 1/2" pcs 4
16.19 |PVC Sealant can 1
16.20 |Plastic MouIdLnE 13 pcs 10
16.21 |No Nail Adhesive pcs 1
16.22 |G.|. Wire #16 kgs i
16.23 |Metal Clamp 11/2" 2 hole pcs 10
16.24 |Metal Clamp 1/2" 2 hole pcs 10
16.25 |Tox & Screw #6 pcs 20
16.26 |Electrical Tape pcs X
16.27 |Masking Tape pcs 1
17 |CBABLDG - 2F
17.1 |Data Cabinet 12RU set/s 1
17.2 |Expansion Bolt and shield set/s 4
18 |CBABLDG - 3F
18.1 |Data Cabinet 12RU set/s 1
18.2 |Expansion Bolt and shield set/s 4




19 |CBABLDG - ROOF DECK
19.1 |Data Cabinet 12RU set/s 1
19.2 |Expansion Bolt and shield set/s 4
19.3 |UTP Cable CAT6 rolls | 0.0655738
19.4 |RJ45 Connector pcs 4
19.5 |RJ45 Rubber Boot pcs 4
19.6 |Plastic Junction Box 4''x4" pcs il
19.7 |PVCPipe 1/2" pcs 6
19.8 |PVCElbow 1/2" pcs 2
19.9 [PVC Coupling 1/2" pes 3
19.10 |PVC Connector w/Locknut 1/2" pcs 2
19.11 |PVC Sealant can 1
19.12 |Plastic Moulding 1" pcs 2
19.13 |No Nail Adhesive pcs 0.2
19.14 |G. |. Wire #16 kgs 1
19.15 [Metal Clamp 1/2" 2 hole pcs 10
19.16 |Tox & Screw #6 pcs 10
19.17 |Electrical Tape pcs 0.3
19.18 IVIaskLng Tape pcs 0.3
19.19 |Plastic Tie Wrap 10" pck 0.25
20 |CBOBLDG-2F
20.1 |Data Cabinet 12RU set/s 1
20.2 |Expansion Boit and shield set/s 4
20.3 |Amco Box set/s 1
20.4 |Information Outlet CAT6 set/s 1
20.5 [Face Plate Duplex set/s 1
20.6 |UTP Cable CAT6E rolls | 0.0983607
20.7 |[RJ45 Connector pcs 4
20.8 |[RJ45 Rubber Boot pcs 4
20.9 [Plastic Junction Box 4"x4" pcs 1
20.10 |PVC Pipe 1/2" pcs 4
20.11 |PVC Elbow 1/2" pcs 2
20.12 |PVC Coupling 1/2" pcs 2
20.13 |PVC Connector w/Locknut 1/2" pcs 2
20.14 |PVC Sealant can 1
20.15 |Plastic Moulding 1" pcs 2
20.16 |No Nail Adhesive pcs 02
20.17 |G. |. Wire #16 kgs 1
20.18 |Metal Clamp 1/2" 2 hole pcs 10
20.19 |Tox & Screw #6 pcs 10
20.20 |Electrical Tape pcs 0.3
20.21 |Masking Tape pcs 0.3
20.22 |Plastic Tie Wrap 10" pck 0.25
21 |CED BLDG1
21.1 |Data Cabinet 12RU set/s 3
21.2 |Expansion Bolt and shield set/s 12
21.3 |Amco Box set/s 14
21.4 |Information Outlet CAT6 set/s 14
21.5 [Face Plate Duplex set/s 14
21.6 |UTP Cable CAT6E rolls 3
21.7 |RJ45 Connector pcs 30
21.8 |RJ45 Rubber Boot pcs 30
21.9 |Fiber Panel SC Loaded 24 port (unit) set/s 2
21.10 |UTP Cat6 Patch Panel set/s il
21.11 |Cable Manager set/s 2
21.12 |PVCPipe11/2" pcs 20




21.13 |PVCElbow 1 1/2" pcs 6
21.14 |PVC Coupling 1 1/2" pcs 6
21.15 |PVC Connector w/Locknut 1 1/2" pcs 8
21.16 |Pull Box 8"x8"x4" pcs 2
21.17 |Plastic Junction Box 4''x4" pcs 6
21.18 [PVC Pipe 1/2" pes 28
21.19 |PVCElbow 1/2" pcs 10
21.20 |PVC Coupling 1/2" pcs 6
21.21 |PVC Connector w/Locknut 1/2" pcs 12
21.22 |PVC Sealant can 0.3
21.23 |Plastic Moulding 1" pcs 24
21.24 |No Nail Adhesive pcs 2
21.25 |G.|. Wire #16 kgs 5
21.26 |Metal Clamp 11/2" 2 hole pcs 30
21.27 |Metal Clamp 1/2" 2 hole pcs 40
21.28 |Tox & Screw #6 pcs 70
21.29 |Electrical Tape pcs 2
21.30 |Masking Tape pcs 1
21.31 |Plastic Tie Wrap 10" pck 1
22 {CHS
22.1 |Data Cabinet 12RU set/s 1
22.2 |Expansion Bolt and shield set/s 4
22.3 |Amco Box set/s 2
22.4 |Information Outlet CAT6 set/s 2
225 |Face Plate Duplex set/s 2
22.6 |UTP Cable CAT6 rolls | 0.1967213
22.7 |RJ45 Connector pcs 8
22.8 |RJ45 Rubber Boot pcs 8
22.9 |Plastic Junction Box 4"x4" pcs 2
22.10 |PVC Pipe 1/2" pcs 10
22.11 |PVCElbow 1/2" pcs 2
22.12 |PVC Coupling 1/2" pcs 2
22.13 |PVC Connector w/Locknut 1/2" pes 4
22.14 {PVC Sealant can 1
22,15 |Plastic Moulding 1" pcs 4
22.16 |No Nail Adhesive pcs 0.2
22.17 |G.I. Wire #16 kgs 1
22.18 |Metal Clamp 1 1/2" 2 hole pcs 10
22.19 |Metal Clamp 1/2" 2 hole pcs 10
22.20 |Tox & Screw #6 pcs 20
22.21 |Electrical Tape pcs 0.5
22.22 [Masking Tape pcs 0.5
23 |CTA
23.1 |Data Cabinet 12RU set/s 1
23.2 |Expansion Bolt and shield set/s 4
23.3 |Amco Box set/s 2
23.4 |Information Outlet CAT6 set/s 2
23.5 |Face Plate Duplex set/s 2
23.6 |UTP Cable CAT6 rolls | 0.0983607
23.7 |RJ45 Connector pcs 8
23.8 |RJ45 Rubber Boot pcs 8
23.9 |Plastic Junction Box 4'"'x4" pcs 3l
23.10 |PVC Pipe 1/2" pcs 5
23.11 |PVC Elbow 1/2" pcs 2
23.12 |PVC Coupling 1/2" pcs 2
23.13 |PVC Connector w/Locknut 1/2" pcs 2




